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Attempt five queétipns in all.
All questions carry -equal marks.
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. (a) What do you understand by scarcity of resources, choice

and apportunity cost 2 How does Price-Mechanism solve

these probiems ?
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Explain consumer’s surplus. What is the effect
on consumer’s surplus when price of the good
increases ? 12.8
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Elaborate the relationship between price elasticity of

demand and total expenditure on commodity.

Due to increase in income of a consumer from Rs. 4,000
per month to Rs. 5,000 per month the demand of
a commodity falls from 20 .to 10. Calculate the ir_1come
elasticity of dema_nd and comment dn the nature of the

commodity. 12,8
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(@)  Explain consumer’s equilibrium with the help of Indifference
Curves. How will an increase in his income affect his
equilibrium 7

(b)  Deriveand explain demand curve from price consumption
curves. 812
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What is the Law of Diminishing Returns to a Factor ?
What does it imply about the shape of Short Run Cost

Curves 7

For the data on output and cost of a firm gfven below,

answer the following : A

Output Total Cost

0 10
! 2
2 | K|
3 4
4 52
5 65
6 &
7 119

" (i) Calculate Average Fixed Cost (AFC), Average Variable

Cost (AVC), Average Total Cost (ATC) and Marginal

Cost (MC).
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(ii) If the firm can sell as much as it wants at a price
of Rs. 19, what is the profit maximizing

output ? 8,12
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How does a firm under Perfect Competition achieve

-equilibrium in the Short Run ?

Compare equilibrium Price and Output levels under Perfect

Competition and Monopoly. 12,8
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How is monopolistic competition different from
oligopoly ?

How does Game theory framework explain the functioning

of a firm under Oligopoly ? 8,12
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What are the circumstances under which market fails to

allocate resources efficiently ?

How is the equilibrium wage rate of labour determined
in a competitive market ? _ 10,10
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Write notes on any fwo :
(i)  Returns to Scale

(if) . Price Discrimination under Monopoly

(iiiy Sources of Gain from International Trade.
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